BF BK Open End Closed End

RAUE—RBaALT O—Lyka47
& RFULR .
_ BB mm
o] R DK K Open Er;d (E&N) L (H) | BB DK K Closed Er;d UEFEYI) L (H)
Bahl ®d ] MLIRE #@anl ®d i AL
do 3% +0.3]| +0.2 BF BK +0.3 do % +0.3 +0.2 BF BK +0.3
M3x0.5 50 50 70 0.8 A2-M3-BF A2-M3-BK 9 0.5-1.5 M3x0.5 5.0 50 70 0.8 A2-M3B-BF A2-M3B-BK 16 0.5-1.5
M4x0.7 6.0 6.0 9.0 0.8 A2-M4-BF A2-M4-BK 11 0.5-2.0 M4x0.7 6.0 6.0 9.0 0.8 A2-M4B-BF A2-M4B-BK 17 0.5-2.0
M5x0.8 70 70 10.0 1.0 A2-M5-BF A2-M5-BK 13 0.5-2.0 M5x0.8 7.0 70 10.0 1.0 A2-M5B-BF A2-M5B-BK 19 0.5-2.0
M6x1.0 9.0 9.0 12.0 1.3 A2-M6-BF A2-M6-BK 15 0.5-2.5 M6x1.0 9.0 9.0 120 1.3 A2-M6B-BF A2-M6B-BK 22 0.5-2.5
M8x1.25 | 11.0 | 11.0 | 15.0 1.5 A2-M8-BF A2-M8-BK 18 0.5-3.5 M8x1.25 11.0 11.0 15.0 1.5 A2-M8B-BF A2-M8B-BK 28 0.5-3.5
M10x1.5 | 130 | 13.0 | 17.0 1.8 A2-M10-BF A2-M10-BK 21 1.0-4.0 M10x1.5 13.0 13.0 17.0 1.8 A2-M10B-BF | A2-M10B-BK 31 1.0-4.0

® BRSt FHAER

T582-0015 KR ATAHE T K F & #+ H 1288-5
TEL:072-977-6161

FAX :072-977-6160

mail : info@hirnao-s.jp



TSF

/—[

7/\

Al

TSK

90°

Open End

Closed End

REAE—REA4T O—Lyka4A~7
ME:ATULXR 5
_ BB :mm
o] R DK K Open Er;d (BEN) (H) g | TREE DK K Closed Er;ld UEFEYIY) (H)
Bahl ®d ] MLIE #@aRl ®d i ALBIRE
do0 % +0.3]| +0.2 TSF TSK +0.3 do 3% +0.3 +0.2 TSF TSK +0.3
M3x0.5 50 50 55 0.45 A2-M3-TSF A2-M3-TSK 9 0.5-2.0 M3x0.5 5.0 50 55 0.45 A2-M3B-TSF A2-M3B-TSK 15 0.5-2.0
M4x0.7 6.0 6.0 6.8 0.50 A2-M4-TSF A2-M4-TSK 10 0.5-2.0 M4x0.7 6.0 6.0 6.8 0.50 A2-M4B-TSF A2-M4B-TSK 16 0.5-2.0
M5x0.8 70 70 8.0 0.60 A2-M5-TSF A2-M5-TSK 12 0.5-25 M5x0.8 7.0 7.0 8.0 0.60 A2-M5B-TSF A2-M5B-TSK 18 0.5-2.5
M6x1.0 9.0 9.0 10.0 | 0.60 A2-M6-TSF A2-M6-TSK 14 0.5-3.0 M6x1.0 9.0 9.0 10.0 0.60 A2-M6B-TSF A2-M6B-TSK 21 0.5-3.0
M8x1.25 [ 11.0 | 11.0 [ 12.0 | 0.60 A2-M8-TSF A2-M8-TSK 16.5 | 1.0-40 M8x1.25 11.0 11.0 120 0.60 A2-M8B-TSF A2-M8B-TSK 27 1.0-4.0
M10x1.5 | 13.0 | 13.0 | 145 | 0.85 A2-M10-TSF A2-M10-TSK 19 1.0-5.0 M10x1.5 13.0 13.0 145 0.85 A2-M10B-TSF A2-M10B-TSK 28 1.0-5.0

® AR FEHER
T582-0015 KRR AFFART KF

TEL:072-977-6161
FAX:072-977-6160
mail : info@hirnao-s.jp

=3 HE1288-5



HEX Open End Closed End

HE:RFULR .
B :mm
| T DK K Open Endéﬁﬁﬂ) L (H) o] R DK K Closed Enéli UEFEYD) L (H)
BEWERL ¢d wE ALDHIRE] BEERL ¢d mE ALHIRE]
do 2% +0.3| +0.2 HEX +0.3 do 3% +0.3 +0.2 HEX +0.3

M3x0.5 5.0 5.0 7.0 | 0.80 A2-M3-HEX 9.0 | 05-15 M3x0.5 5.0 5.0 7.0 0.80 A2-M3B-HEX 16.0 0.5-1.5
M4x0.7 6.0 6.0 9.0 | 0.80 A2-M4-HEX 11.0 | 0.5-2.0 M4x0.7 6.0 6.0 9.0 0.80 A2-M4B-HEX 17.0 0.5-2.0
M5x0.8 7.0 7.0 | 10.0 | 1.00 A2-M5-HEX 13.0 | 0.5-2.0 M5x0.8 7.0 7.0 10.0 1.00 A2-M5B-HEX 19.0 0.5-2.0
M6x1.0 9.0 9.0 | 120 | 1.30 A2-M6-HEX 150 | 0.5-2.5 M6x1.0 9.0 9.0 12.0 1.30 A2-M6B-HEX 220 0.5-25
M8x1.25 | 11.0 | 11.0 [ 15.0 | 1.50 A2-M8-HEX 18.0 | 0.5-4.0 M8x1.25 | 11.0 11.0 15.0 1.50 A2-M8B-HEX 28.0 0.5-4.0
M10x1.5 | 13.0 | 130 [ 170 | 1.80 A2-M10-HEX 210 | 1.0-4.0 M10x1.5 | 13.0 13.0 17.0 1.80 A2-M10B-HEX 31.0 1.0-4.0

® ARSM FHEER

T582-0015 KERAFHIR T KF & F+H1288-5
TEL:072-977-6161

FAX : 072-977-6160

mail : info@hirnao-s.jp



THIN HEXAGON

SH Open End Closed End
HE:RFULR .
B :mm
| T DK K Open End IEIEJE?'Q) (H) oA R DK K Closed Eng UEFEYID) L (H)
BEWERL ¢d wE ALHIRE] BEERL ¢d mE MLHIRE]
do 3% +0.3| *£0.2 SH +0.3 do 3% +0.3 +0.2 SH +0.3
M3x0.5 50 50 55 0.45 A2-M3-SH 9.0 | 0.5-15 M3x0.5 50 5.0 55 0.45 A2-M3B-SH 15.0 0.5-1.5
M4x0.7 6.0 6.0 6.8 0.50 A2-M4-SH 100 | 0.5-20 M4x0.7 6.0 6.0 6.8 0.50 A2-M4B-SH 16.0 0.5-2.0
M5x0.8 70 70 8.0 0.60 A2-M5-SH 120 | 0.5-20 M5x0.8 70 7.0 8.0 0.60 A2-M5B-SH 18.0 0.5-2.0
M6x1.0 9.0 9.0 10.0 | 0.60 A2-M6-SH 140 | 0.5-25 M6x1.0 9.0 9.0 10.0 0.60 A2-M6B-SH 21.0 0.5-2.5
M8x1.25 [ 11.0 | 11.0 [ 12.0 | 0.60 A2-M8-SH 16.5 | 0.5-3.5 M8x1.25 11.0 11.0 12.0 0.60 A2-M8B-SH 27.0 0.5-3.5
M10x1.5 | 13.0 | 13.0 | 145 | 0.85 A2-M10-SH 200 | 1.0-40 M10x1.5 13.0 13.0 145 0.85 A2-M10B-SH 314 1.0-4.0

® RS FHHER

T582-0015 KBRfFtaR T K F & F+H1288-5

TEL:

072-977-6161

FAX:072-977-6160

mail

: info@hirnao-s.jp



M8 RFULR .
B :mm
B@aht| S A lamsnme| © ELT
Max. B NnE | Es
CLS-M3-0 | _0.76 | 081
M3x0.5 [ CLS-M3-1 | 097 1.0 422 | 635 | 15
CLSM32 | 1.37 14
CLS-M4=0 | 0.76 | 081
M4x0.7 [ CLS-M4=1 | 097 1.0 538 | 8 2
CLS-M&—2 | 1.37 14
CLS-M5-0 | 0.76 | 081
M5x0.8 [ CLS-M5-1 | 097 1.0 638 | 9 2
CLSM5-2 | 1.37 14
CLS-M6-0 1.15 1.2 PN T B3 &1 4 T
M6x10 [ CLS-M6=1 | 137 T4 872 | 11 | 41 @ mmzit FHRMEH
CLo W2 | 221 2.3 T582-0015 ABRAFHRHTAFEFHE1288-5
M8x1.25 [oro—e—1 L - 105 | 127 | 55 TEL : 072-977-6161
CLEMTOoTT 521 557 FAX : 072-977-6160
M10x1.5 — — = - 14 17 75 il : info@hirnao-s.j
CLSM10-2| 305| 3.8 mail : in ip




